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•••• k e = âh e Ùee  pee BÛe  ke â j ue W e fk e â  Fme  Øe Mve -he $e  ce W ce ge fõl e  he =‰ 15 le Le e            
Øe Mve  18 nQ~ 

Please make sure that the printed pages in this 

question paper are 15 in number and it contains      

18 questions. 

•••• Ø e Mve -he $e  ce W oee fnve s neL e  ke âe r De e sj e foÙe s ie Ùe s keâes[ ve cy ej le L e e  mesš  ke âes 
Úe $e  G òej -he ge fmle k e âe  kes â  ce gKÙe -h e =‰ he j  e fue Ke W~  

The Code No. and Set on the right side of the 

question paper should be written by the candidate 

on the front page of the answer-book. 

•••• k e = âh e Ùee  Øe Mve  ke âe Gòe j  e fue Ke ve e Me g™  ke âj ve s me s he nue s ,  Øe Mve  ke â e ›e â cee b ke â 
De Je MÙe  e fue Ke W~ 

Before beginning to answer a question, its Serial 

Number must be written. 

SET : B 
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•••• G òe j -he ge fml e ke âe  ke s â  ye e rÛe  ce W Ke e ue e r he vve e /h e vve s ve  Ú esÌ [W~ 

Don’t leave blank page / pages in your answer-

book. 

•••• Gòej-hegefmle keâe kesâ Deefleefjkeäle  keâesF& DevÙe Meerš veneR efceuesieer~ Dele: 
DeeJeMÙekeâleevegmeej ner efueKeW Deewj efueKee Gòej ve keâešW~ 

Except answer-book, no extra sheet will be given. 

Write to the point and do not strike the written 

answer. 

•••• h e j er#e e L ee a De he vee  je sue  v e b 0 Øe Mve -he $ e  he j  De Je MÙ e  e fue Ke W~ 

Candidates must write their Roll Number on the 

question paper. 

•••• k e = âh e Ùee  Øe Mv ee W k e âe  Gòe j  osve s me s he tJe & Ù e n me ge fve efMÛe le  ke âj  ue W e fke â  Øe Mve -he $e  he tCe& 
Je  me ne r nw , h ejer# ee ke s â Gh ejevle Fme mecy evOe ceW k eâesF& Yeer oe Jee mJe erkeâ ej 
veneR efk eâÙe e p eeÙe siee~ 

  Before answering the questions, ensure that you 

have been supplied the correct and complete 

question paper, no claim in this regard, will be 

entertained after examination. 

mee ceevÙe  efveoxMe :  

 (i) me Ye er ØeMve  De efveJe eÙe& nQ~  
    

 (ii) b F me  Øe Mve -h e $e  ce W ke g â ue  18 Øe Mve nQ, pees Ûeej KeC[eW : De, ye, me 

leLee  o cebs e fJeYe keäle nwb~ 
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 (iii) KeC [ – De c e b s Sk eâ Øe Mve  nw efpe me ke s â ye ejn (i-xii) Ye e ie  nQ e fpe ve ceW 

(i) me s (vii) le k e â ye nge fJe ke â uhe e rÙe  l eL ee  (viii) me s (xii) le ke â 

J e mle ge fve ‰ he Çke âe j  kes â  Øe Mve  nQ~ Øe lÙe sk e â  Øe Mve  1 De b ke â ke â e  nw~ 

 (iv) KeC [ – y e  ce W Øe Mve  me b KÙe e   2 me s 10 l e ke â De e fl e -ueI e tòe je lce ke â 

Ø e Mve  nQ~ Ø e lÙe ske â  Øe Mve  ke s â 2 De b ke â nQ~ 

 (v) KeC [ – me ce W Ø e Mve  me b b KÙe e  11 me s 15 le ke â  ueI etòe j e lce ke â Øe Mv e 

nQ~ Ø e lÙe ske â  Øe Mv e  ke s â 3 De b ke â  nQ~ 

 (vi) KeC [ – o ce W Øe Mve  me b KÙe e  16 me s 18 le ke â oe rI e & Gòe je lce k e â Øe Mv e 

nQ~ Ø e lÙe ske â  Øe Mv e  ke s â 5 De b ke â  nQ~ 

 (vii) me Ye e r oe rIe & G òej e lc e ke â Øe Mvee W ce W De e vle e fj ke â Útš Ghe ueyOe  nw~ S smes 

Ø e Mve e W ceW me s De e he ke âe s k es âJe ue  S keâ  ne r Øe Mve  ke âj ve e  nw~ 

General Instructions :  

 (i) All questions are compulsory. 

 (ii) This question paper contains 18 questions, 

which are divided into four Sections : A, B, 

C  and D. 

 (iii) Section – A contains one question having 

twelve (i-xii) parts, in which (i) to (vii) are 

multiple choice type and (viii) to (xii) are 

objective type questions. Each question 

carries 1 mark. 
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 (iv) Section – B contains question numbers 2 to 

10 of very short answer type questions and 

carry 2 marks each. 

 (v) Section – C contains question numbers 11 to 

15 of short answer type questions and carry 

3 marks each. 

 (vi) Section – D contains question numbers 16 to 

18 of long answer type questions and carry 

5 marks each. 

 (vii) Internal choice is available in all long answer 

type questions. You have to attempt only one 

of the given choice in such questions. 

KeC[  – De 

SECTION –  A 

(Jemlegefve<" ØeMve) 

(Objective Type Questions) 

ve esš :    e fve cvee fue efKe le  ye nge fJeke âuhe erÙe  Øe Mv e eW k e sâ  mener e fJ e ke âuhe  Ûegve ke â j                   
G òe j -he ge fml e ke âe  ce W e fue e fKeS  : 

  Select the correct option of the following multiple 
choice questions and write in answer-books. 

  1. (i) i e e F vee r keâ e s ce we f mšÙ e e e f ke â me ke âe  ue# eCe nw  ?  1 

  (A) [eGv e e f me b [̂e s ce  (B) k e ä uee Fve he s â ušj  e f me b [ê s ce 

  (C) šve & j  ef me b [̂e s ce  (D) e f me ke â ue mes ue S v ee re f ce Ùee 



 ( 5 ) 3030/(Set : B) 

3030/(Set : B)    P. T. O. 

  Gynaecomastia is a symptom of :  

  (A) Down's syndrome  

  (B) Klinefelter's syndrome 

  (C) Turner's syndrome  

  (D) Sickle cell anaemia 

 (ii) Ø e ke t âš e f ke âme  hej  h ee Ù ee pe e lee  nw  ?  1 

  (A) mRNA (B) tRNA 

  (C) rRNA (D) DNA 

  Codon is present on :  

  (A) mRNA (B) tRNA 

  (C) rRNA (D) DNA 

 (iii) [e e f Je & ve  ef he âb Ûe  L ee r  :   1 

  (A) ce e meg & ef h e Ùe ue (B) h e# ee r 

  (C) ce Ú ue e r (D) ce e sL e 
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  Darwin finches were :  

  (A) Marsupials  (B) Birds 

  (C) Fish (D) Moth 

 (iv) e f ve cve e f uee f Ke le ce W mes k e âe w ve-me e ml e veO ee je r pe ue ce W j nl e e nw  ? 1 

  (A) åJe s ue (B) [e @ ue e f he â ve 

  (C) me e r ue (D) Ùe n me Ye e r  

  Which of the following mammal live in 

water ?  

  (A) Whale  (B) Dolphin 

  (C) Seal  (D) All of these 

 (v) e f me je se f me me ef k e â me ke âe r y ee r ce e je r nw  ?       1 

  (A) le b ef $e ke âe  le b$ e ke âe r  

  (B) Ùe ke â = le k e âe r 

  (C) ¢ oÙ e ke âe r  

  (D) Øe es mšs š «e b e fL e ke âe r 
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  Cirrhosis is a disease of :  

  (A) Nervous system   

  (B) Liver 

  (C) Heart  

  (D) Prostate gland 

 (vi) e f keâ me ce W S «e es ye w keä še re f j Ùe ce  šÙe t ce e r hes â efMe Ù eb me keâ e še r Dee F & h uee e f]pce [ 

k e ä uee se f ve b ie me b Jee nke â k e s â ™ he ce W Øe Ùe e sie ne s le e  nw ?   1 

  (A) he e wOe e W ceW  

  (B) Øe ee f Ce Ùe eW c eW 

  (C) (A) De e w j  (B) oe s ve eW  c e W  

  (D) F ve ce W me s k eâe s F& ve ne R 

  Tumor inducing Ti plasmid of 

Agrobacterium tumifaciens is used a 

cloning vector in : 

  (A) Plants   

  (B) Animals 

  (C) Both (A) and (B)  

  (D) None of these 
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 (vii) e f ve cve e f uee f Ke le ce W mes keâewve-meer Øeeflej#eer Suepeea ceW hew oe nes leer nw ? 1 

  (A) Ig A (B) Ig E 

  (C) Ig M (D) Ig G 

  Which of the following antibodies are 

produced in allergy ? 

  (A) Ig A (B) Ig E 

  (C) Ig M (D) Ig G 

 

 (viii) S ke â  Dee f ue b ie ›e âe s cee s me e s ce ue ive De ØeYe e Jee r je s ie keâ e ve e ce e f uee f Ke S ~ 1 

  Name an autosome linked recessive 

disease.  

 (ix) G me Je w%e e ef v e ke â ke âe ve e ce ye le eF S  e fp e me k es â me ce e f ° me b oYe & ce W e f ke âS  

i e S  ke âe Ùee X ve s [ee f Je & ve  ke âe s ØeYee e f Je l e ef k e âÙee ?    1 

  Name the scientist whose work on 

populations influenced Darwin.  
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 (x) y ee r Dee s [e r he je r#e Ce ke ä Ùee  cee h e ve ke â j lee  nw ?   1 

  What is measured by BOD test ?  

 (xi) k e â ew ve-me e S b pee F ce he e ohe ke âes e fMe ke âe ke âe s le e sÌ [ve s ceW Øe Ùe e s ie              

ne s l e e nw ?         1 

  Which enzyme is used to break Plant Cell ?  

 (xii)  [e r S ve S  ke â es S k e â le keâ vee r ke â Ée j e De ue ie ke âj  me ke âle s nQ, e f pe mes 

………….. k e ânle s nQ~       1 

  The fragments of DNA can be separated by 

a technique known as ………….. .  

KeC[ – ye 

SECTION –  B 

(Deefle-ueIetòejelcekeâ ØeMve) 

(Very Short Answer Type Questions) 

  2. S s mk es âe f jS ef me me yee r cee je r ke s â ue# e Ce De ew j  h ew âue ve s ke s â l ej er k e sâ ke ä Ùe e nQ ? 2 

 What are the symptoms and mode of 

transmission of disease Ascariasis ?  
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  3. ke âew ve -me e me t# ce pe er Je  me e F keä ue es mhe e se fj ve S  G lhe v ve ke âj lee  nw De e w j  F me k eâe 

Øe Ù ees ie  ef k e âme  ef ueS  ne s lee nw ? 2 

 Which microbe produce Cyclosporin A and what 

for it is used ?  

  4. me he âue ceOe g ce ke ä Ke e r he e ue ve  ke s â  e f ue S  ke ä Ùee  ce nlJe het Ce & e f ye vog nQ ? 2 

 What are important points for successful Bee 

keeping ?  

  5. [e Ùe ve e mee s j  ke ä Ùe e ne s le s nQ ? e f ke âvne R oe s  [e Ùe ve e me es j ke s â  vee c e        

e f uee f Ke S ~ 2 

 What are Dinosaurs ? Name any two      

Dinosaurs.  

  6. yee r šer pe e rJe e f Je <e yes me e rue me k e âe s ke ä Ùee W ve ne R cee j l ee he j vle g ke âe r š ke âes      

ce e j le e nw ? 2 

 Why does Bt toxin not kill bacillus but kills the 

insect ?  
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  7. De eOe ge f ve ke â pe w Je  Øe ew Åee se f ie k eâ er ke sâ ef Je ke âe me ce W oes  Øe ce g Ke leke âve e r ke âe W ke s â 

Ùe e s ie oe ve ke âe s e f ue e f KeS ~ 2 

 Write down two core techniques that enabled 

birth to modern biotechnology.  

  8. Je e Ûe ve  Øee Åee j  e f ve Je sMe ve Ùee e f Je ue e s he ve G lhe e fj Je le & ve k eä Ùe e ne s le s nQ ? 2 

 What are frame shift insertion or deletion 

mutations ? 

  9. pe er J e Dee fYe JÙe e f ke ä le ke âe s ef ve Ùe ef ce le k e âj  me ke âve s Je e u es ef J ee fYe v ve mle j ke ä Ù ee nQ ? 2 

 What are the various levels at which gene 

expression can be regulated ?  

10. Gvv ee Ùe ke â  De ew j  me ce e he ke â pe e r ve c e W De vle j  mhe ° k e âe re f pe S ~ 2 

 Differentiate between promoter and terminator 

gene. 
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KeC[ – me 

SECTION –  C 

(ueIetòejelcekeâ ØeMve) 

(Short Answer Type Questions) 

11. ce šj  ke sâ  ye e r pee W ce W ce b [ me bMue s <e Ce ke âe G oe nj Ce os le s ng S  De he t Ce & Øe Ye ee f Je le e 

ke âe Je Ce &ve  ke âer e f peS ~ 3 

 Describe the incomplete dominance by giving the 

example of starch synthesis in pea seeds.  

12. vÙe t e f keä ue De e s mee s ce ke âe r meb j Ûe ve e k e âe Je Ce & ve k eâe re f peS ~ 3 

 Describe the structure of nucleosome.  

13. De b le:  Øe pe ve ve  ke ä Ùee nw ? Fme ke â s  ne e f ve ke âe j ke â Ø eYe e Jee W ke â es ef ue ef KeS ~  3 

  What is inbreeding ? Write its harmful effects.  

14. he j h ee s <e er k e âe se fMe ke â eDee W ceW e f Je pee le er Ùe [e r S ve S  k e â es Ø e Je sMe k e â j e ve s ns leg 

e f Je efYevve ef J ee fOe Ùee B ke ä Ùe e nQ ? 3 

 What are the various techniques to introduce 

alien DNA into host cells ?  
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15. me npe Ø e ef le j# ee k es â e f Je e fYe vve  De Je je sOee W ke âe Je Ce& ve ke âe re f pe S ~ 3 

 Describe various barriers of innate               

immunity.  

KeC[ – o 

SECTION –  D 

(oerIe& GòejerÙe ØeMve) 

(Long Answer Type Questions) 

16. mL e e vee b le j Ce k e âe r meb ef#e h le J Ùee KÙe e k e âe re f pe S ~ 5 

 Describe Translation in brief.  

DeLeJee 

OR 

 [e r S ve  S  ke âe r meb j Ûe v ee k e âe e f Je mle e j  mes Je Ce & ve k e âe re f pe S ~  

 Describe the structure of DNA in detail.  
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17. ne [e a J es ve ye ie & mee cÙe l ee ke âes Øe Ye ee f Je le k e âj ves Je e ue s I e škeâ e W ke âe e fJ e mle e j  mes 

Je Ce & ve k eâe re f peS ~ 5  

 Describe in detail the factors which affect Hardy-

Weinberg equilibrium.  

DeLeJee 

OR 

 me ce pee le  De e w j  l eg uÙe ™ he De b ie (me c e ™h e De b ie) ke ä Ùe e ne s le s nQ ? G oe nj Ce 

me e f nle  JÙee KÙ e e ke â er ef peS ~    

 What are homologous and analogous organs ? 

Explain with examples.  

18. me t# ce pe er Je e W ke âe r e f ke âe fCJ e le  hes Ùe De e w j  S b še r yee Ùe e se f ške â ce W ke äÙe e Ye te f ce k e âe     

ne s le e r nw ? 5 

 What is the role of microbes in fermented 

beverages and antibiotics ?  
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DeLeJee 

OR 

 Je n ke âe w ve -me e r e f ›e âÙe ee f Je efOe  nw e fpe me me s S [d me e f Je <e e Ceg me b ›e âe f ce le JÙe e f ke ä l e ke s â 

Øe e f le j# e e le b$ e ke âe Üe me ke âj le e nw ?    

 What is the mechanism by which AIDS virus 

causes deficiency of immune system of infected 

person ?  

ssss    

 


